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QUESTION: No: 402 
Which two years were the least number of tires sold? 

A. 1998 and 1999 
B. 1998 and 2000 
C. 1998 and 2001 
D. 1999 and 2000 
E. 2000 and 2001 

Answer: B 

QUESTION: No: 403 
Which of the following is a correct graph of x>1, x <4? 



A. Line A 
B. Line B 
C. Line C 
D. Line D 
E. Line E 

Answer: A 

QUESTION: No: 404 
How much money did Jessica's budget allow for housing in April of 2001? 

A. $617.80 
B. $620.92 
C. $622.50 
D. $626.38 
E. $63 3.20 

Answer: C 



QUESTION: No: 405 
Which of the following is the correct graph for x 23 and x S-2 

A. Line A 
B. Line B 
C. Line C 
D. Line D 
E. Line E 

Answer: D 

QUESTION: No: 406 
Column A -The average (arithmetic mean) of v,w,y,x, and z 

A. if the quantity in Column A is greater 
B. if the quantity in Column B is greater 
C. if the two quantities are equal 
D. if it is impossible to determine which quantity is greater 

Answer: A 

QUESTION: No: 407 
The shaded are in the below figure is 65% of the are of the entire circle, what is the value of d? 



Column A - d 
Column B -126 degrees 

A. if the quantity in Column A is greater 
B. if the quantity in Column B is greater 
C. if the two quantities are equal 
D. if it is impossible to determine which quantity is greater 

Answer: C 

QUESTION: No: 408 
Column A - (x-y) 
Column B - 0 

A. if the quantity in Column A is greater 
B. if the quantity in Column B is greater 
C. if the two quantities are equal 
D. if it is impossible to determine which quantity is greater 

Answer: C 

QUESTION: No: 409 
What is the volume of the following cylinder? 



A. 210.91 
B. 226.20 
C. 75.36 
D. 904.32 
E. 28.26 

Answer: B 

QUESTION: No: 410 
In the above circle AB = 4, BC = 6, AC = 5 and AD = 6. What is the length of DE? 

A. 6 
B. 7.5 
c. 8
D. 9 
E. 10 

Answer: D 

QUESTION: No: 411 
In the above circle, the radius is 6 and AB = 6. What is the area of the shaded region? 



A. Option A 
B. Option B 
C. Option C 
D. Option D 
E. Option E 

Answer: E 

QUESTION: No: 412 

A. 72 
B. 90 
C. 108 
D. 120 
E. 180 

Answer: C 

QUESTION: No: 413 
What is the area of the trapezoid above if AB = BC = CD = 6, and AD = 12? 



A. Option A 
B. Option B 
C. Option C 
D. Option D 

Answer: B 

QUESTION: No: 414 
If the radius of the circle above is equal to the chord AB, then what is the value of? 

A. 25 
B. 30 
C. 40 
D. 45 
E. 50 

Answer: B 
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